HarVGSt Luminaire, for use with dining table

Date: March 19, 2021
www.landscapeforms.com  Ph: 800.521.2546

Assembly Guide
N
\\\
N \
6in luminaire 14.25in luminaire

Included components:

N r 19 1/4"

\\\ t ;
Dining Dining

6in 14.25in 1/4-20x 1-1/4”
flat head hex
drive screw - 2x

Luminaire assembly - 1x

1/4-20 hex
nut - 2x

1/4” washer -
2x

Driver assembly with Cord cover - 1x
corded plug - 1x

Tools required for assembly

 Safety glasses

* 7/16” socket wrench

¢ 9/16” socket wrench

* 5/32” hex key

* Protective padding material

WARNING!: LED cartridge and driver are not rated for connection or disconnection
while energized. Doing so may damage LEDs and will void the warranty. Disconnect
incoming power before making or breaking any electrical connections.

landscapeforms

ASSEMBLE WITH CARE! Pangard II® Polyester Powdercoat is a strong, long-lasting finish. To
protect this finish during assembly, place unwrapped powdercoated parts on packaging foam or
other non-marring surface. Do not place or slide powdercoated parts on concrete or other hard or
textured surface — this will damage the finish causing rust to occur. Use touch-up paint on any
gouges in the finish caused by assembly tools.

PROCEDURE FOR ASSEMBLY:.

1. Attach luminaire assembly to tabletop frame using hardware shown in Fig. 1.
Tabletop slats should be snug against luminaire verticals. If luminaire doesn’t fit
between tabletop slats, loosen table leg attaching hardware to adjust accordingly.

2. Connect wiring from luminaire to driver wiring.

3. Remove two bolts and washers from table support leg, near the same side as the
wire whip extending from the luminaire, see Fig. 2. Retain hardware.

4.  Attach box using existing bolts and washers as shown in Fig. 3. Ensure wiring is
running through slot on side of box without being pinched.

5. Remove bolt and washer as shown in Fig. 4. Retain hardware.

6. Run cord along table support leg and secure with cord clip using existing bolt and
washer, see Fig. 4.

7. Continue running cord down table support leg. Remove backing from glazing
adhesive on cord cover and secure cover to table leg, see Fig. 5.

8. Cord must be plugged into a receptacle that meets local codes for existing site
conditions (not the responsibility of Landscape Forms).

" TABLE
/ 1/4” WASHER —\ SUPPORN
/

,.-('\ /7{“\\ _—LUMINAIRE
2t

1/4-20x 1-1/4" —\
FLAT HEAD SCREW

Fig. 1 — attach luminaire to tabletop frame

Page 1 of 2



Date: March 19, 2021

www.landscapeforms.com  Ph: 800.521.2546

HarVGSt Luminaire, for use with dining table

Assembly Guide

WIRING FITS
THROUGH NOTCH
IN DRIVER BOX

CONNECT
TO DRIVER

X SLOT IN TABLE
\  SUPPORT

~— NOTCH IN DRIVER
BOX

—— 3/8 WASHER

- 3/8-16
HEX BOLT

3/8-1N
HEX BOLT

3/8 WASHER

CORD CLIP

CORD/
Fig. 4 — attach cord clip
landscapeforms
Page 2 of 2

Fig. 5 —attach cord cover




	Assembly Guide
	Assembly Guide

